2 A BEE B HIFR B = FH30428 188 ()

BHEIILTEER
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JIE L K 4 NET HDCP TOTAL ouT IN OUT NET [[=Kiva K 4 NET HDCP TOTAL ouT | N OUT NET
BB AR 68 20 88 ( 43 45 ) 330 BB ARHEBAX 67 15 82 ( 42 40 ) 345
206 FL & 71 11 82 ( 44 38 ) 38.5 20 HME &F 68 10 78 (41 37 ) 36.0
Shr  EED B 72 7 79 (40 39 ) 365 3t Rk Bx 69 22 91 (46 45 ) 350
AN ANEF EE 73 10 83 ( 42 41 ) 37.0 446 RE & 70 14 84 ( 37 47 ) 30.0
by AR EE 73 4 77 (39 38 ) 370 Shy  RIE #B= 70 19 89 (44 45 ) 345
6 Wl %8 73 18 91 ( 47 44 ) 38.0 6 fEE T 70 27 97 ( 49 48 ) 3b.5
Th AN EA 73 9 82 ( 44 38 ) 395 T REB= 70 20 90 (47 43 ) 370
8 KX=FH 74 4 78 ( 39 39 ) 37.0 8L FJII F= 71 17 88 ( 47 41 ) 38.5
Ohr AR R 74 19 93 (50 43 ) 405 o REH 72 21 93 ( 46 47 ) 355
100 BEHy — & 75 17 92 (45 47 ) 365 10 HEE & 72 9 81 (42 39 ) 375
1hr %t 75 5 80 ( 40 40 ) 375 IRETANE - - 73 12 85 (40 45 ) 340
120 HED BB 75 6 81 (41 40 ) 380 1200 #AA Bsa 73 25 98 ( 49 49 ) 365
130 #vH Bt 75 16 91 (46 45 ) 380 130 A% HE 73 17 90 ( 45 45 ) 365
140 fRE B= 75 19 94 (51 43 ) 415 140 K% EBs 73 14 87 (44 43 ) 370
1661 EH FEFE 76 18 94 (45 49 ) 36.0 1547 FE#E EH0 73 10 83 (42 41 ) 37.0
160 AR ik 77 15 92 (45 47 ) 375 160 BB A 73 15 88 ( 46 42 ) 385
170 B & 77 17 94 (49 45 ) 405 170 ¥ Hx 73 21 94 (51 43 ) 405
18h =R EE 77 11 88 (47 41 ) 415 180 B T 74 29 103 ( 52 51 ) 375
1906 #1E H— 77 11 88 (49 39 ) 435 190 A ® 74 16 90 ( 46 44 ) 380
206 BEAE A 77 17 94 (52 42 ) 435 2060 it & 74 21 95 (50 45 ) 395
2561 FAE 78 17 95 (49 46 ) 405 256 ML —% 77 14 91 (47 44 ) 400
306 LA R 79 22 101 ( 50 51 ) 390 304 FHE BE 78 19 97 (49 48 ) 395
35 K BN 79 12 91 ( 48 43 ) 42.0 351 #EA ER 79 19 98 (b1 47 ) 415
400 [ED FnE 80 30 110 ( 53 57 ) 380 407 Ak EE 80 11 91 ( 45 46 ) 395
450  £F HBER 80 12 92 ( 46 46 ) 40.0 4561 AB FRB 80 25 105 ( 59 46 ) 46.5
50hy ‘& —ak 80 26 106 ( 57 49 ) 440 506 EHHA VYT 82 28 110 ( 55 55 ) 410
60  HM F0iE 82 15 97 ( 49 48 ) 415
706 BEAE BA 85 21 106 ( 48 58 ) 375
80 —E %z 86 9 95 (52 43 ) 475
90fr  EER ik 92 30 122 (60 62 ) 450
BRE ARHERE 93 9 102 ( 53 49 ) 48.5 BBE THSE 87 30 117 (61 56 ) 46.0
BGE AXEE 77 ( 39 38 ) Par 72 a—AL—t  ZE—TL—h
Bi(E) 6606 vyard 713 128
BEH(E) 6237  yard 69.5 123
Bi(&£) 5892 vyard 68.1 119
BEH(R) 5281  yard 64.9 114
ZHEGR) 5,281 yard 70.1 123
L) 5185  yard 69.5 123




